
Year 4 Maths 13.1.21



Recall:

What is the surface area of this 

shape?

What multiplication number 

sentence could you write to show 

this?



Guided practice:



Intelligent practice:



Intelligent practice:

The area will always be the same because 

whilst the actual shape is changing, it is 

using the same number of squares which 

means it covers the same amount of 

surface.



Intelligent practice:

Draw a rectangle that has 7 

squares in a row and 3 

squares in a column. What 

would the surface area be of 

the rectangle?



Intelligent practice:

Draw a rectangle that has 7 

squares in a row and 3 

squares in a column. What 

would the surface area be of 

the rectangle?

3 x 7 = 21 and so the surface area of our rectangle is 21



Intelligent practice:



Dive deeper 1:



Dive deeper 1: 

Answer



Dive deeper 2:



Dive deeper 2: Answer


